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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

1
2000 -1 ECdef B S S S S S S e

—>&—  water_ec

1750

1500

1250

1000

750

500 W H . I FaF ' ' EaFsFyn’ ' EaPl+ L I mi H
aririmls . vul L Ll g1ro -, LUl ZLAM Lor s 1 o rsoslillsg

0 50 100 150 200 250



Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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XX6

BriE) | EBIATK (FD) | EBE (EH/HK) | XK EFRE

01:50 67 20.0 |/\F§ BRi1&@01:50 (RFIERLES)
02:50 67 20.0 [/\il {RR1%@02:50 (FKFHIERLEE)
03:50 67 20.0 [/\il§ B31%@03:50 (FKHAEH=E)
07:05 67 20.0 i} Fi#Ae07:05 (FRFA{EREE)
09:35 67 20.0 15 FEf@09:35 (FRAER)
11:00 67 20.0 i FEA@11:00 (KAIERSE)
12:10 67 20.0 i FiHe12:10 (RRAERSE)
13:20 67 20.0 i FEfe13:20 (FKRAERSE)
14:40 67 20.0 i Fnfe14:40 (REERES)
23t| 603.0 (9%) 180.0 EWHKEC: 1595. 0000000000002, PH: 6.9

unusual large postFgEt from yesterday (65), set to 60.0 ml.

RE R i ERECEIE TR K.

FERECE (1450. 0 vs 3404.0) 145
REREBT I HEREC/PHE S K, FIRERZMIFEELRR




XX6_0, Day=176 (2025-04-20)
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XX6

BriE) | EBIATK (FD) | EBE (EH/HK) | XK ERE

06:25 42 20.0 ] B31%@06:25 (KFERHE)
07:20 42 20.0 i BRi&@07:20 (KRFERE)
08:15 42 20.0 i RR1%@08:15 (K FHIERLEE)
09:35 42 20.0 i ’Ri1%@09:35 (kKAL)
10:40 42 20.0 i BRi%010:40 (KRFERSE)
11:45 42 20.0 i Ri&e11:45 (RBAHEHE)
12:40 42 20.0 i Ri%@12:40 (KRPAIERSE)
13:30 42 20.0 i Ri%@13:30 (REERES)
14:25 42 20.0 i Ri&e14:25 (KRBAHEHE)
15:25 42 20.0 i BRi&@15:25 (FKPBHERE)
2it]420.0 (10%) 200.0 I WHKEC: 1595. 0000000000002, PH: 6.9

MRV ERESTEEARTST (52.0 : 42.0), AREKkREERE
ERER AT R RAERIZE I (170 vs 80.0))

ZRIASERRIERE42. 0 ml.
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RERE B HEREC/PHIE SRS, FAIREEIMAEALRSE



XX6_0, Day=175.0 (2025-04-19)

R T T T T T T
VI, VARV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 17

15 13638} 150 —~
106
10 - 100
5 - 50
00 00
-0
FRV

1

N D
o o O
I I

N
o
I

FRV (ml plant-1)

o

e
©
1

Warning: lcol ["WC1',| "WC2'] missing

0.8 4 TargetEC=2000. 0, TargetSetEC=1595. 000000
: 0000002

Warning: lcol ['ECB’, 'ECC’'] missing

TargetPH=6. 0, TargetSetPH=6.9

©
N
1

Warning: lcol ['PHB',| "PHC'] missing

e
S o

Bylnit @D176 04:47: ¥FT=158 Fg=240.0 Ro=61.0

(2]

T
N
o
o

cumET (ml/plant)

S
o
1

T
—_
o
o

N
o
1
e o e e

ET (ml/hr/plant)

T
i
:

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
PBH | B [ BH | S

]
ByEt @D175 18:43: ET=187 Fg=156.0 Ro=nan !
I

[=2]

S o
1

=

=

B 5] B B B 5] B B B 5] B B B 5] B

S
o
1
T
N
o
o

& & o

T
—_
o
o

cumET (ml/plant)

N
o
1

ET (ml/hr/plant)

\ 4
®

l

- - M
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
% | % | || |0 || % [ | | [ | | | @ || m | m || m | mw @ "

ByWoFv @D176 04:47: ET=138 Fg=200.0 Ro=56.0

(=2
o O
1

S
o
1

N
o
1

ET (ml/hr/plant)

o

0.8 A

0.6

0.4+

0.2+

0.0

—_— 4
(] | _obs
—@— PPFD_obs

1000 ~

500 -

RH
[ ] RH_obs
2004 @ RHo_obs

T
w
o
o

==}
I
==}
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
1
w
o
o

T
w
o
o

T
N
o
o

cumET (ml/plant)

T
—_
o
o



hour

100

:00
:00 80
:00
- 60
55
:15
-40
:30
140 20
:40
1 1 1 1 1 1 1 _0
B K & B K% % S
é§¥ & %ﬁ» & & 4? %;5 %gr



XX6

AyiE) | EBIATK (FD) | EBE (EHA/K) | KR EFRE

07:00 172 20.0 i {212@07:00 (KRF{ERLEE)
08:00 172 20.0 i 1;i%@08:00 (K FAfER%=2)
09:00 172 20.0 i ’R1%@09:00 (K BfERE)
09:55 172 20.0 i BRi&@09:55 (KRFERE)
11:15 172 20.0 i Ri%e11:15 (RAERSS)
12:30 172 20.0 i Bi%@12:30 (RFEHE)
13:40 172 20.0 i B18@13:40 (KREEREE)
14:40 172 20.0 i B18014:40 (RFERE)
=21t 1376.0 (8)%) 160.0 323 KEC: 1564.2, PH: 6.9

TERBHLERE STRHREART (53.0 :

ZRIAKPRIEBRE42. 0 ml.
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42.0), FIREKRFBERME
EIRGEBBHCRIZR BN (170 vs 80.0))




XX6_0, Day=174.0 (2025-04-18)
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XX6

AyiE) | EBIAT (FD) | EBE (EHA/K) | XK R

06:15 171 20.0 ] RR1%@06:15 (FKFHIERLEE)
07:15 171 20.0 3] B31%@07:15 (REEH:E)
08:15 171 20.0 ] B1%@08: 15 (KFERHKE)
09:15 171 20.0 1] ’Ri%@09:15 (KAfERHEE)
10:35 171 20.0 3] ’Ri&@10:35 (KPB{EREE)
12:35 171 20.0 1] RRi&e@12:35 (kAfEREE)
14:10 171 20.0 i BRig014:10 (REERSE)
23t 1197.0 (%) 140.0 329353 KEC: 1504, 8000000000002, PH: 6.9

TERBHLER E STREART (53.0 :

EORGEBBHCRIZREZIL (171 vs 80.0))

ZRIASERRIERE43. 0 ml.

43.0), FIREKRFERME

unusual large postFgEt from yesterday (69), set to 60.0 ml.

RE R i3t B HECEIRE HR L.

H#[EIHECE (1368.0 vs 3538.0) 15
RERERL i HEREC/PHIELER S, FIRERIMAEBLRSE
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